Binary Numbers Plan - solution example

Answer to “what the binary number system is and how it is simply another way of describing an amount.”

In our everyday lives we use a decimal numbering system containing 10 digits, 0 through 9. Computers use a binary number  system which contains only 2 numbers, 0 and 1. These are  called binary digits or bits. Eight bits is a byte and is used to represent character and numeric data. The binary number system is used in computers and digital systems where successive digits are coefficients of powers of the base 2, rather than the base 10 to represent numerical values.

10111 = (1 x 24) + (0 x 23) + (1 x 22) + (1 x 21) + (1 x 20)
10111 = 16 + 0 + 4 + 2 + 1 = 23 

	Decimal number
	Binary number
	Binary power

	8
	1000
	(1x 23)+(0x22) + (0x 21) + (0x20)

	25
	11001
	(1 x 24) + (1 x 23) + (0 x 22) + (0 x 21) + (1 x 20)

	136 
	10001000
	(1 x 27) + (0 x 26) + (0 x 25) +(0 x 24) + (1 x 23) + (0 x 22) + (0 x 21) + (0 x 20)

	1577 
	11000101001
	(1 x 210) + (1 x 29) + (0 x 28) (0 x 27) + (0 x 26) + (1 x 25) +(0 x 24) + (1 x 23) + (0 x 22) + (0 x 21) + (1 x 20)


	Decimal
	Binary

	25
	11001

	26
	11010

	27
	11011

	28
	11100

	29
	11101

	30
	11110


